Mass (kqg)

Mode L No. Max Appli. Motor (kW) Terminal Symbol ExLMg ENC noise Filier
Normal Duty | Heovy Dut INPUT QUTPUT(MOTOR) No Infernal EMC Filter [Infernal ENC Filter(C3)|Internol EMC Filter(C2)
Third Anale Proiection CIPR-GAT0021690000-#00000 45 31 R/LT S/L2 T/L3 [ U/TT V/T2 W/T3 2 39 39 39
: : g : J CIPR-GAT0O?27110000-#00000 595 45 R/LT S/Le T/L3 [ U/TT V/T2 W/T3 2 40 40 40
Dimensions in mm CIPR-GAT0O0471400000-#00000 15 55 R/LT S/L2 T/L3 [ U/TT V/T2 W/T3 2 38 38 38
CIPR-GAT0041680000-#00000 90 15 R/LT S/L2 T/L3 [ U/TT V/T2 W/T3 2 39 39 39
O:A fto [/
o | B A to 7 Base Point of
OD\Q\PL Z{l Mowswg Holes ‘ PXEMC Filter Terminal Board
erator or Crews ‘
- 2.5, el 37 ¢ Refer to Drawing No.900-190-125
o 41, (41) nty for Terminal Board Detail
o Main Terminals
™ | . with M10 Screws
= T ‘Hex socket cap(WAF:8mm) | |
Hé7ﬂ° — é; b Main Terminals
1 r ) o with M6 Screws
o o o ‘Hex socket cap (WAF:5mm)
o o (@]
3 Main Terminals
g o~ with M8 Screws
(@]
! o ‘Hex socket cap(WAF:6mm)
Fﬂm i ?3 <r| o
T . )
o O Lﬂ ° ° - — o> O
| — (%4 mi (op " —| oy —
= o ° N SI2 TIL3 ¢
—] = I
. 0=
m - -
il! =
| . | N by
H H — mﬁﬁ .
jﬂﬁﬁ 1 : o =
o © @ il | exP31.1(262.2) Grounding Terminals
© olo o o 4.1 19.8 with M8 Screws
1 — %; 114 8 cslot(-)/Hex head
— D] ZE 50 | 10 (WAF: 13mm) combo
— Air 142 .3 2xP31.1(262.2)
max. 1?2 max. 1?2 .31
31 190 (37) (1.5) 335 I 7 ]
[rm——]
264 2 Y L
o 0000000 o 00000000 o
= |- ==
= o> el p—) (=
e y m e = =z |= = Bz e
= N—= 1= = o =2 = STl =
e o = = — o E S| o Od)— Ngz
=N N 1SEQsYT = |2
= Mo ol = S QI ¢ — 23S — M= = =
= |« e et s —| 27 = |= |
— = ¢ DAT—1C D S = -
g o D C DAl IDC D C Do -

Detail (without Front cover)
Scale 1:6 SCALE 1.5




